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Study the following diagram and use it
to answer the questopms from 35 to 39.
The 'Pie diagram given below shows the

distribution of land to various food
crops.

(ARSI Prelims-2018)

Sugarcane | Jowar

Paddy
&6

Groundnut
S

1 &% Sbdn Srdmdied 505
Bircuods ¢l sdo

The percentage ol area allocated to

Jowar and Vegetables put together is
1)50%  2)35%  3)30% 4)25%
Answer : (4)
Sol. Required sentd —E—KIOU‘V
ol. Required percentage = 360° (1
= 25%
(Jowar = 457, Veg = 45")
2. £0 Hobdh Siranodd gros,
Erdrabe Sobh Biranods (s
o 958
The ratio of the land allocated for Paddy
to the land allocated for vegetables is
1373 2)149  3)59 4)9:5
Answer: (2)
Sol. 70:45=14:93
3. ($8 dobdH ‘2 rgdie gl

Id8ds 'Y sy YRR

Béronomrth. %= K woxd 6K =

If a hectares of land is allocated for

Cotton and b hectares of land is

allocated to Groundnut; and if E =K,

then 6k =

1) 5 2)3 32 4H1
Answer: (1)
Sol. a=50,b =60

nE ks i
b 60
5
k=2
6

S6K = 6(2] =6
6

4. Eedrrbe Sobd 120 Joeen Birand,
G Sobd Berosmodd ¢rd:
(SEcredt)

If the land allocated to Vegetames is
120 acres, then the land allocated to
wheat (in acres) is

1140 2)150 3155 4)160
Answer: (4)
Sol. 457 — 120
60" — 7
4 40
i o P P C

E

WWwWw.nipuna.ntnews.com,
www.facebook.com/ntnipuna

5. &% Sob Sof (B8 Sobd Serowodd
€ 200 T IS, 88 Bobd
StronoDs ¢l (Wggs’)

The land allocated to each crop is
more than the sorghum crop“If more
than 200 hectares, land devoted to
rice crop (in hectares)

1) 2800 2) 3200

3) 3600 4) 4200
Answer: (1)
Sol. 50°-45°=35°
- 5°—200
70" —7

- 56 Hobk BLranodd &

nueﬂu =
=_§'— = 2800 Trsty

@ & (Bod SErordo sgrdorr (6-9)
Bhed e aikod.
SedS o ofZeBS Sond adhs
% Toth bzre arsbare Sogd, o
Sofdtreh Somools Ikt BOD
(Bob 2855 efichie Sahod.
(TS. PC-2018)

Holddo (2012 2013| 2014|2015 2016

TR

Sogg Eedd)

By A 16.9 |126) 9.6 | 14.8] 16.1
B9 B 2.4 |18.8]11.2])16.2]18.4

NOTE : Study the following table which gives
the production of two types of vehicles
by an automobile company in five years,
Use this to answer the questions
numbered 163 to 166.

Year (2012 [2013[2014]2015(2016
Number-1
Vehicles
(in thousnds)
Type A 16,9 |12.6] 9.6 | 14.8] 16.1
Type B 254 |18.8]11.2]16.2] 18

6. 20146° a8 wand B o e
Hoyy o3 SoSHted® a%s vows A
B¥o e Sogh Job o 5T
What percent the vehicles of type B
produced are more than the vehicles
of type 'A" in 2014 ?

15 2 16 & 17 2 14 2
Ij:r8 2) % 3) ?4} 7
Answer : (2)
2014 (AtB0) 2014 (B Zg0)
9.6 1.2

sl. e

+1.6

- Dtrbte eaedo = %x 100%

=lxIUﬂ%
6

2
=16=%
3

7. 5donedst aiHB wons A B¥o FirTe
Sogg Sbdin B Gfo e doggd
o 958
The ratio of number vehicles of type
A produced to that of type 'B' all the
five years
1)2:3

Answer: (2)

Sol.

AtBo=109+12.6+9.6+ 148+16.1=70
B &80 =254+ 18.8+11.2+ 16.2 +18.4=90
el 258 =70:90
=7:9

2)79 9T 4)3:2

OB VSV
FER00ES® (53380 96 GRS’ ©9%257°68 Ve ©0eerens® GTon. wond
$08° e ® DD PFRoepod &% B do A Qonometh. s
5%, &, 3069, SoeBHS, &8, Moy 3 GRS’ 905708 DHOBO 0eseren
%8 BhoT)80. B8 woT°e0 workePnS® &) arhe- o, Borrd,
Hoesoed, 89, Sreasr¥o, 5008, 2,805, $Qo¥o, St

8 2014 Sond® &% wowd A o
Fdeare Sogy 2013 Sond® adyg
o &3 Yo e Sogd® fnd
Fdo

The percentage decrease in the
production of type A vehicle in the
year 2014 to that in 2013 is

7 6
21 2 192
T LT
5 17

3) 182 3317
2 0% Y S5

Answer: (4)
Sol. 126-96=3

(2013) (2014)

17

_%i
21

el svdo= Iziﬁ x100% =23

9. 201535 Sodditos® 5ol adyg Ins
Swdo T Hogy

The total number of vehicles
produced by the company in the year
2015 is
1) 30,000 2) 31,000
3) 32,000 4) 33,000
Answer: (2)
Sol. 2015=>14.8+16.2
=31 Feosd)

= 31,000
v (10-14) BHen & (Sod Sdrodo
srrdorr araddod.

Directions (Questions 127 to 131) :
Study the following spie-diagrams
carefully and answer the questions
given below:

(A.P.SI-2012)
Srss dbsos® e ado

10. S #8808’ Jod grro Jfw¥en
Sodaks S 500 b ?

In the human body, what part is made

of neither bones nor skin

3 11 1

D 25 Y
Answer : (2)

Sol. JiimSen Sbckin DD SOA Gold e
1

1
I
106
_ 345

T30
B _4

'3

RETE
1"
. BOA aoid gwﬁo=g

(w15-4=11)
(Neither bones nor skin)
11 555 96508%0 S806™n B85 oo
Sy Erds e’ whpd® Jod
Torld Gdrde?

What percent of the total weight of
human body is equivalent to the
weight of the proteins in skin in

human body?
1) L6 2)0.16  3)0.016 4) 1.06
Answer: (1)

Sol. s=ehs ardgo=16%x T% =1.6%

12. oloedin B85S Hbake JswESR
Eds% Sggo 258 Jod ?

. &
nipuna °

Every Wednesday Free Supplement

S e |
What is the ratio of the distribution of
proteins in the muscles to that of the

distribution of proteins in the bones?
nDL1g  2)12 3)2:1 4)18:1
Answer: (3)

1 1
Sol. —x16:—x16=6:3
® 3%
=2:1
.. Required ratio =2 :1
16+ 14 = 50%

13. é% Hodkn =d8 8 Lrese
sobdn Srucens, Hgedtny wiEc
So(io 88 Dod Ewo Tikob ?

To show the distribution of proteins

and other dry elements in the human

body, the arc of the circle should

subtend at the centre an angle of

1y 54 2)126% 3)108° 4)252°
Answer : (3)

30
Sol. =rSebhd Bpmo = ¥t 360=108°

14, 80 &, b, o8 &8 ¥6cd® a8

&frrime D% dotnod ?

What will be the quantity of water in
the body of a person a weighing 80

kg? (in kg)
1) 40 2)48

Answer: (4)

Sol. 70% — 80
10% — 8
5 T0% — 7x8 = 56 ke,

@ & (8o Sdrorlo wordorre (15-18)
(BHen usrmbicl.
(Boss =iy $8E 2848 ardey FFmei®
1986-87 dood 1991-92 H585H
3DahES08. (85 avyBEy) esm
Brodee Yol JEFT &) b
Dend DB sredegod® §dmen (1986~
87 ool 1991-92)
Directions: (for Questions 15 to 18):
The following table gives the trends
in foreign trade for the years 198687

to 1991-92. Trade balance is defined
as the excess of exports over imports,

364 4)56

(51-2012)
Hon Sibiadoes b
Year (& 100 S&8F) | (e, 100 g’
Imports Exports
(Rs. 00' Crore) | (Rs 00' Crore)
1986-87 210.0 126.0
1987-88 231.0 160.0
1988-89 300.0 210.0
1989-90 375.2 2945
1990-91 465.5 350.0
1991-92 510.5 470.5

15, odiy) (@8 w88 S3rh wond
HodEEe?

Rl 4

19 PEJ0 2025
2w 8

B i) R |

The trade balance was lowest for the

year

1) 1990-91 2) 1987-88

3) 1989-90 4) 1986-87
Answer: (4)

Sol. (B&) 2585 = 2rodd - Brhda
Exports - Inports
1990 - 91 = 350-465.5=-115.5
(wdeyo)
1987 — 86 = 160-231=71
1989 — 90 =» 294.5 - 375.2 =-80.7
1986 — 87 = 126 -210=-84

.-, option (4)
16. BE erpef) & sEErt) wdo Ao
©ERa?

For which year was the percentage
annual change in trade balance

highest?
1) 1986-87 2)1990-91
3) 1989-90 4)1991-92

Answer: (4)

" -84
Sol. 1986-87= 210 % 100% =—40%

1990-91=> x100% =-25%

-80.7 ;
®x 100% ==21%
375.2

1989 -90 =

—40
1991-92= mx 100% = —8.33%

.~ Option(4)
17. Jbndke B8 oDk Gy do 2
Sodded® wdhtore dob ?

When was the trade balance, as
percentage of exports the highest ?
1) 1990-91 2) 1989-90
3) 1986-87 4)1991-92
Answer : (1)

Sol. 1990-91= =113-3

®x 100% =-33%

-80.7

1989 -90 = x 100% ==27%
294.5

1986 — 87 = o % 100% = —67%
126

1991-92= ﬂ>< 100% =-8.5%
470

(wd5p50)
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